Cramer’s Rule

Step 1: Organize the system of equations so that the variables of the first equation line up
with the variables of the second equation.

—5x+3y=-1
x+ 6y =253

Step 2: Write the equations in matrix form.

> JBI=[ss

Step 3: Find the determinant of the original coefficient matrix; if the determinant of the
original coefficient matrix is zero, then no unique solution exists.

D= |‘15 2| = (=5)(6) — (1)(3) = =30 — 3 = —33

Step 4: Substitute the “answer” matrix into the column of the original coefficient matrix
for which the variable will be solved.

-5 3 -1 3]
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Step 5: Find the determinant of the new matrix.

D, = E; 2] = (=1)(6) — (53)(3) = —6 — 159 = —165

Step 6: Divided the new determinant by the original determinant in order to solve for the
unknown variable.

D —165
x=—£=——=5

b =33

Step 7: To solve for other variables, repeat steps 3-5.

, -5 3 -5 -1
Solvmgfory:[ 1 6] - [ 1 53
-5 —-1_,_ _ Ay — _
Dy_|1 53|_( 5)(53) — (1)(=1) = —265 + 1 = —264

_D, _-264 _
Y= T 33




Algebra 2
Assignment

Use Cramer's Rule to solve each system.

1) 5x-4y=-8
“3x-y=-2

3) 2x=-5y=19
~3x~y=-3

5) x-4y=6
-2x—-y=-3

T dx—y=-3
-x-3y=17

9) 6x—4y=20
-5x =5y =125
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2) 2x-4y=12
x—2y=6

4) 2x+6y=14
4x—y=2

6) 2x—2y=2
3x-3y=3

8) —2x-2y=10
Ix -3y=-21

10) 2x—-6y=14
S5x+6y=1
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Solving Matrix Equations with Inverses Date Block

"t Solve each equation.

1) 38=[33 -6 -18] ) {_25}5)(

il

' ﬁiﬁ"?f"“' e - 1

i+

o 10 -4]-x=[—4 2 -] ~14

—= I
G = == S

‘la L 4) 4‘-22 — _8
‘\ L JipAn

‘5 ]

M;q For o

i i

h“ Wi

Solve each cquation or state if there is no unique solution.
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